GCSE Maths Takeaway 48 - Frequency Polygons

Correct Answer: ABCD

Frequency Explanation:

Mid-Point Frequency

20sh<30 ?

What should replace the “?”

II 20.5 II 2 5

21 Bl 305h<d40 | ettt

Correct Answer: ABCD

Frequency Explanation:

Mid-Point Frequency

12<h<18 ? S,

What should replace the “?”

15 BI  185h<2d |

155 B 125 | e

Correct Answer: ABCD
Mid-Point x

Frequency Explanation:

Mid-Point Frequency

What should replace the “?”

10<h<20 Bl 105h<30 |
Not enough
18<h<22 Bl . icion | e

This quiz was created on www.diagnosticquestions.com. 1



p— S Correct Answer: ABCD

! Created using:

9

, Mathster Explanation:

7

&

¥ Wha{ was (he --------------------------------------------------------------------------

4 range in the

¥ temperatures?

P o e . N N

!

] 3 T L
Time (pm)

90 20
8)] 10° 1010 | ettt ettt

Correct Answer: ABCD

60
50 What is the Explanation:
- it xplanation:

£ score? | [T
10
1]

0 10 20 30 40 50 60 70 80 90 100
Score

25 E 20 and 80 ..........................................................................

Not enough

50 Bl intormationtosay] vttt

This quiz was created on www.diagnosticquestions.com. 2



	GCSE Maths Takeaway 48 - Frequency Polygons

